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An isolated system of total mass m is formed by mixing two equal masses

of the same liquid initially at the temperatures I and T>. Eventually, the
system attains an equilibrium state. Each mass is incompressible with

constant specific heat C. Determine the amount of entropy produced.
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AUpon+ AU =0
=5 [MC(Ty ~ T3)lion + [MC(T3 = Ti)) =0
= [30(0.45)(T2 — 90) o + [m(4.184)(T3 — 25)] =0
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m,, = p¥ = (1000)(0.2) = 200(kg)
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= —2.62(kJ/K)
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AS, = mCEn% = 200(4.184)n = 2.80(kV/K)
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AS = AS,,, +AS, =~2.62+2.80=0.18(kI/K)
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